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H9l: FOl HMOSX EEH-E)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=0t 261,897 258,447 3,450
=0 HoESX(S0tY) 187,397 185,397 2,000

=0 HaEsd 187,397 185,397 2,000
S0t =R s RAE> 45,110 43,110 2,000

405 TtobFH S 2,000 0 2,000

01 AL ESFH SH 2,000 0 2,000

O &ds ARel ¢ 2,000,000& =+ 1CH 2,000 0 2,000
HY2FZH (S0tH) 74,500 73,050 1,450
Jl2&dl 74,500 73,050 1,450
JlE= 3l 74,500 73,050 1,450
405 Xt&tE = HI 4,250 2,800 1,450

01 AL ESFH SH 4,250 2,800 1,450

O Zct=ZelHo| 1,100,000& = 104 1,100 0 1,100

O A 350,000& =+ 1CH 350 0 350




